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NEW QUESTION 1
Which virtual MAC address is the default for HSRP version 2 group 10?

A. 0000.5E00.0110
B. 0000.0C9F.FO0A
C. 3716.1350.1COA
D. 0000.0C9F.F010

Answer: B

NEW QUESTION 2
Which mroute state is created when Bidirectional PIM is deployed at a site?

A.*G
B. MVPN Type-6
C. MVPN Type-7
D.S.G

Answer: A

NEW QUESTION 3
Refer to the exhibit.

Start time: Mon Rpr 15 09:23:01 2019

Last election time: Mon Apr 15 09:24:24 2018

h: UF, FPRIMARY

B: UP, SUBORDINATE

A: memb state UP, lead state PRIMARY, mgmt services state: UP

heartbeat =tate PRIMARY OK

INTERMAL METWORE INTERFACES:

ethl, UP

eth?, UP

HA NOT READY

No device connected to this Fabric Interconnect

B: memb state UP, lead state SUBORDINATE, mgmt services satate:

ug

What must be connected to clear the HA NOT READY status?
A. Layer 1-Layer 2 ports

B. server chassis

C. management ports

D. network uplinks

Answer: B

NEW QUESTION 4

Which adjacency server configuration makes two OTV edge devices located in the same site bring up the dual- site adjacency?

A Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv use-adjacency-server 20.1.1.2 unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv use-adjacency-server 20.1.1.1 unicast-only
otv join-interface Ethernetl/2
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Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv join-interface Ethernetl/2
otv adjacency-server unicast-only
otv use-adjacency-server 20.1.1.1 unicast-only

C. Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

intevrface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv use-adjacency-server 20.1.1.1 unicast-only
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv use-adjacency-server 20.1.1.2 unicast-only
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 350-601 dumps!
r_l CEFtSharEd https://www.certshared.com/exam/350-601/ (0 Q&AS)

Answer: B

NEW QUESTION 5
Refer to the exhibit.

NTE-1
spanning—-tree vlan 1-10 priority 8192

vpe domain 100

role priority 100

peer-kespalive destination 10.1.1.2 source 10.1.1.1
vrf default

delay restore 60

peer-switch

auto-recovery

ip arp synchronize

NTK-2
spanning-tree vlan 1-10 priority 8152

vpe domain 100

role priority 200

peer-keepalive destination 10.1.1.1 scurce 10.1.1.2
vrf default

delay restore &0

peer-switch

auto-recovery

ip arp synchronize

The STP priority of N7K-1 and N7K-2 are the lowest in the network. Which statement describes STP on the vPC?

A. N7K-1 and N7K-2 appear as a single STP root.
B. N7K-1 appears as the STP root.

C. N7K-1 preempts N7K-2 as the STP root.

D. N7K-2 appears as the STP root.

Answer: A

NEW QUESTION 6

Hostl is in VLAN100 located in DataCenterl and Host2 is in VLAN20O0 located in DataCenter2.
Which OTV VLAN mapping configuration allows Layer 2 connectivity between these two hosts?

A DC1:
interface Overlayl
otv extend-vlan 100
otv vlan mapping 100 to 200

DC2:
interface Overlayl
otv extend-vlan 100
otv vilan mapping 100 to 200

B- DCI:
interface Overlayl
otv extend-vlan 100
otv vlan mapping 100 to 200

PC2:
interface Overlayl
otv extend-vlan 200

C. I
interface Overlayl
otv extend-vlan 100

DC2:
interface Overlay2
otv extend-vlan 200
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DC1:
interface Overlayl
otv extend-vlan 100

DC2:
interface Overlayl
otv extend-vlan 200

Answer: A

NEW QUESTION 7
Which configuration implements static ingress replication?

A,
interface nve 1
member vni 3716135
ingress-replication protocol bgp

B. interface nve 1
member vani 3716135
peer vtep 10.0.0.4

€ interface nve 1
member vni 37161335
peer viep 10.0.0.4
ingress-replication protocol static
peer-ip 10.0.0.4

D. interface nve 1
member vni 37161335
ingress-replication protocol static
peer-ip 10.0.0.4

Answer: D

NEW QUESTION 8
Refer to the exhibit.

OTV-Sitel# show otv

OTV Overlay Information

Site Identifier 0000.0000.0111
Overlay interface Overlay200

VPN name: Overlay200

VPN state: UP

Extended vlans: 178 2500-2563 (Total:65)
Join interface(s): Eth1l/2 (20.1.1.1)
Site vlan: 1999 (up)

AED-Capable: Yes

Capability: Unicast-Only

Is Adjacency Server: Yes

Adjacency Server(s): 20.1.1.1/2021.1

A network engineer is setting up a multihomed OTV network. The first site has been set up with a primary and secondary adjacency server.
Which configuration must be added on the remote OTV AEDs site? A.

A interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563

otv use-adjacency-server 20.1.1.1 unicast-only
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B. interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563

interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563

otv use-adjacency-server 20.1.1.1 20.2.1.1 unicast-only

C.

D- interface Overlay200

otv join-inferface Ethernetl/2
otv extend-vlan 178. 2500-2563

otv adjacency-server unicast-only

Answer: C

NEW QUESTION 9
A customer has a requirement to deploy a cloud service and needs to have full control over the underlying OS, data and applications.
Which cloud model meets this requirement?

A. MaaS
B. PaaS
C. SaaS
D. laaS

Answer: D

NEW QUESTION 10
Refer to the exhibit.

Hexus (config)# show checkpoint summary
U=zer Checkpoint Summary

1) Beforelld:

Created by adamin

Created at Mon, 15:25:08 31 Dec 2018
Siza is 9.34% bytes

Deacription: Hone

Syatem Checkpoint Summary
2) aystem-fm-vrrp:
Created by admin

Created at Fri, 09:57:02 14 Jun 2019
Bize i= 20,865 bytes=

Description: Created 'J.:n_l.r Feaature Manager.
3} aystem-fm-harp engine:

Created by admin

Created at Fri, 09:57:28 14 Jun 2019
Size is 20,852 bytes

Description: Created by Feature Manager.

What is the reason the system-fm-vrrp checkpoint was created?

A. The VRRP process crashed and the checkpoint was automatically created.
B. The VRRP service restarted and the checkpoint was automatically created.
C. The network administrator manually created it.
D. The VRRP-enabled feature has been disabled.

Answer: D

NEW QUESTION 10
What is an advantage of streaming telemetry over SNMP?

A. on-change traps sent to a receiver

B. periodic push-based subscription messages
C. periodic polling of the device status

D. MD5-based authentication on polling

Answer: B

NEW QUESTION 15

APIC EPG Resolution Immediacy is set to "Immediate".

Which statement is true about the Deployment Immediacy for VMM domains associated to EPGs?

A. If "On demand" is selected, the policy is programmed in the hardware only when the first packet is received through the data path.

B. It "Immediate"” is selected, the policy is programmed in the hardware as soon as the leaf is booted.
C. The "Immediate" and "On demand" options require a port group to be created on the VDS.
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D. If "On demand" is selected, the policy is programmed in the hardware only when the APIC detects a VM created in the EPG.

Answer: A

NEW QUESTION 17
A server engineer wants to control power usage on a Cisco UCS C-Series rack server down to the component level.
Which two components support specific power limits? (Choose two.)

A. storage controller
B. network controller
C. processor

D. graphic card

E. memory

Answer: AB

NEW QUESTION 18
An engineer wants to create a backup of Cisco UCS Manager for disaster recovery purposes.
What are two characteristics of a full state backup of a Cisco UCS Manager database? (Choose two.)

A. contains all of the runtime states and statuses but not the configurations
B. performs a complete binary dump of the database as a .bin file

C. performs a complete binary dump of the database as a .sql file

D. performs a complete binary dump of the database as a .txz file

E. contains all of the configurations

Answer: BE

NEW QUESTION 19
What happens to the default host firmware policy after a Cisco UCS Manager upgrade?

A. It is assigned to all the service profiles that include a host firmware policy.
B. It is replaced by a new default policy without any firmware entries.

C. It is set to match the host firmware policy.

D. It is updated to contain the firmware entries of all the components.

Answer: A

NEW QUESTION 23
An engineer is asked to use SaaS to manage Cisco computing.
Which two items are needed to accomplish the task? (Choose two.)

A. Intersight

B. UCS Central

C. Device/Claim ID

D. Node name/Serial Number
E. UCS Manager

Answer: AE

NEW QUESTION 26
An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of a UCS C-series rack mount server.
What setting will accomplish this goal?

A. C6 Retention

B. C6 non-Retention
C. C2 state

D. CO/C1 state

Answer: A

NEW QUESTION 31
An engineer is duplicating an existing Cisco UCS setup at a new site.
What are two characteristics of a logical configuration backup of a Cisco UCS Manager database? (Choose two.)

A. contains the configured organizations and locales

B. contains the VLAN and VSAN configurations

C. contains the AAA and RBAC configurations

D. contains all of the configurations

E. contains a file with an extension tgz that stores all of the configurations

Answer: BC

NEW QUESTION 35
An engineer must configure Cisco IMC server management NIC for autonegotiation.
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Which setting should be selected?

A. shared LOM

B. Cisco card

C. dedicated

D. shared LOM EXT

Answer: C

NEW QUESTION 39
Where is the witness deployed in a two-node Cisco HyperFlex Edge deployment?

A. to the HyperFlex Edge two-node cluster

B. to Cisco Intersight

C. to a third-party cloud provider

D. to an additional server with network access to HyperFlex Edge

Answer: B

NEW QUESTION 44
Refer to the exhibit.

UCS-Aé scope adapter 1/1/1
Ucs-a# fchassis/server/adapter # show image
Name Type Version State

ucs-mBlkr-vic.2.2.1b.bin Adapter 2.2(1lb) Active

Ucs-n# Schassis/server/adapter # update firmware 2.2 (1b)
Ucs-aé /chassis/server/adapter* § activate firmware 2.2 (1b)
set-startup-only

UCS-A# /chassis/server/adapter* # commit-buffer

vcs-a¢ /chassis/server/adapter #

What is the result of this series of commands?

A. It reboots the server immediately.

B. It activates the firmware on the next adapter boot.

C. It updates the firmware on adapter 1/1/1 immediately.
D. It verifies the firmware update on the server.

Answer: B

NEW QUESTION 49
What is the benefit of adding Cisco HyperFlex Hardware Acceleration Cards to a HyperFlex deployment?

A. increased compression efficiency
B. increased network throughput

C. GPU acceleration

D. offline encryption acceleration

Answer: A

NEW QUESTION 54
Which two statements about the process of performing an EPLD upgrade on a Cisco MDS 9000 Series Switch are true? (Choose two.)

A. The upgrade can be performed from the standby supervisor module.

B. The upgrade process disrupts only the module that is being upgraded.

C. The active supervisor can be upgraded.

D. If an upgrade is interrupted, the upgrade continues after a connection is restored.
E. Modules must be online to be upgraded.

Answer: AB

NEW QUESTION 58
Refer to the exhibit.

FI-1# scope oxrg /

FI-1 /org # create maint-policy maintenance

FI-1 /org/maint-policyv* # set reboot-policy timer-automatic
FI-1 /org/maint-policy* # set soft-shutdown-timer never

Which action must be taken before the maintenance policy can be committed?

A. Specify a maintenance time by selecting a schedule.
B. Associate a service profile to the maintenance policy.
C. Set the soft shutdown timer to a specific time.

D. Set the policy to apply the changes on the next reboot.
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Answer: A

NEW QUESTION 60
Which statement is true about upgrading the firmware on a Cisco MDS storage switch with dual supervisors?

A. Supervisors can be upgraded independently to test the new firmware.

B. The new firmware is loaded on the standby supervisor first.

C. Both supervisors load the new firmware and then the active supervisor reboots.
D. The standby supervisor must be offline before the firmware upgrade begins.

Answer: B

NEW QUESTION 64

A Cisco MDS 9000 Series Storage Switch has reloaded unexpectedly.
Where does the engineer look for the latest core dump file?

A. /Imnt/recovery

B. /mnt/core

C. /Imnt/logs

D. /mnt/pss

Answer: D

NEW QUESTION 66

An engineer must implement a Cisco UCS system at a customer site. One of the requirements is to implement SAN boot. The storage system maps the source

WWPN to a unique LUN. Which method does Cisco recommend to configure the SAN boot?

A. Define the vHBAS as bootable and leave the boot target definition empty.

B. Create a SAN boot policy in which every initiator is mapped to a different target LUN.

C. Define the vHBAs as bootable and leave the default values on the boot target definition.
D. Create a SAN boot policy in which every initiator is mapped to the same target LUN.

Answer: D

NEW QUESTION 71

An engineer is implementing FCoE.

Which aspect of DCBXP on a Cisco Nexus switch affects this implementation?

A. It requires that LLDP transmit and LLDP receive are enabled on the FCoE interface.

B. It uses the Cisco Fabric Services protocol to exchange parameters between two peer links.
C. It provides the authentication of peers on the Cisco Nexus switch.

D. It always is enabled on 10/100-Mbps native Ethernet ports.

Answer: A

NEW QUESTION 74

Which statement about the MAC address that the FCoE Initialization Protocol chooses for use by an E-Node in an FCoE implementation is true?

A. The FCoE Initialization Protocol uses a 24-bit FC-MAP and concatenates a 24-bit Fibre Channel ID to create a fabric-provided MAC address.

B. The FCoE Initialization Protocol uses the burned-in MAC address of the converged network adapter for all FCoE operations.
C. FCoE does not use a MAC addres

D. The FCoE Initialization Protocol is used to acquire a Fibre Channel ID, and the address is used for all FCOE communications in the same way as Fibre Channel

Protocol.

E. The FCoE Initialization Protocol uses 01.00.0C as the first 24 bits of the MAC address and appends a 24-bit Fibre Channel ID to derive a full 48- bit FCoE MAC

address.

Answer: AB

NEW QUESTION 75
An engineer is implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action must be taken?

A. NPIV must be enabled on the upstream switch.

B. The FCNS database must be disabled in the fabric.

C. A port channel must be configured to the upstream switch.
D. All switches in the fabric must be Cisco MDS switches.

Answer: A

NEW QUESTION 78

Which two statements about modifying Cisco UCS user accounts are true? (Choose two.)
A. Disabling a user account maintains all of the data in the Cisco UCS Fabric Interconnect.

B. The admin account can be used to log on by using SSH only.
C. The password of the user account must contain a minimum of 10 characters.
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D. Local user accounts override the same account on a remote authentication server, such as TACACS, RADIUS, or LDAP.
E. The password of the user account expires in 30 days.

Answer: AD

NEW QUESTION 82
Refer to the exhibit.

N5K-1 (config)#interface fc2/3
NS5K-1 (config—-if) #switchport mode sd
N5K-1 (config-if) # no shutdown

What is the result of implementing this configuration?

A. The Fibre Channel interface is configured for SPAN.

B. The Fibre Channel interface is configured for source distribution.

C. The Fibre Channel interlace is configured for FSPF.

D. The Fibre Channel interface is configured for synchronization distribution.

Answer: A

NEW QUESTION 87
A customer has a requirement for an automation solution that supports periodically acquiring configuration from a centralized server and aligning UCS servers to
their desired state. Which open-source tool meets this requirement?

A. SaltStack
B. Kubernetes
C. Puppet

D. Terraform

Answer: C

NEW QUESTION 90
An administrator needs to configure an automated policy to shut down a link when a given threshold is exceeded on MDS switch. Which feature needs to be used?

A. RMON

B. EEM

C. Call Home
D. Scheduler

Answer: B

NEW QUESTION 95
What is required for using Ansible with HTTP/HTTPS protocol in a Cisco NX-OS environment?

A. XML management interface
B. SSH

C. Open Agent Container

D. NX-API

Answer: D

NEW QUESTION 99
A POAP-enabled Cisco Nexus switch will not enter POAP mode.
Which two conditions should be verified? (Choose two.)

A. No startup configuration is available.

B. The switch is in bootup process.

C. The license file is missing on the switch.

D. Bootflash must contain a special directory named POAP with poap.py file.
E. No Cisco NX-OS image is present on the bootflash.

Answer: AB

NEW QUESTION 102

An engineer enters these commands while in EEM on a Cisco Nexus 9000 Series Switch

event manager applet Backup-config event timer watchdog time 1800 name timer event cli match "copy running-config startup-config" What is the result of
applying this configuration?

A. It generates an error because no action is mentioned.

B. It executes the copy running-config startup-coring command.

C. It saves the running configuration every 1800 seconds.

D. It blocks the copy running-config startup-config command.

Answer: A
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NEW QUESTION 107
An engineer is asked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generate a message.
What Configuration will accomplish this task?

A. event manager applet fcns_policyevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit
action2.0 policy-default

B. event manager applet fcns_policy override fcns_entries_max_per_switchaction 1.0 syslog priority errors "CNS DB entries have reached the EEM limit" action
2.0 policy-default

C. event manager applet fcns_policy override fcns_entries_max_per_switchevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS
DB entries have reached the EEM limit

D. event manager applet fcns_policy action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit action 2.0 event-default

Answer: C

NEW QUESTION 112
Refer to the exhibit.

<?xml version="1.0" encoding="UTF-8"7?><imdata totalCount="1"><error
code="403" text="Token was invalid (Error: Token timeout)"/></imdata>

An engineer configures a new application profile using REST API and receives this error message. Which method can be used before the application profile can
be configured?

A. GET to aaalListDomains
B. POST to aaaRefresh

C. POST to aaalogin

D. POST to aaalLogout

Answer: C

NEW QUESTION 115

An engineer is asked to manage a large-scale data center and collect information from multiple Cisco NX-OS devices using Cisco NX-OS Data Management
Engine model.

Which technology should be used to accomplish this goal?

A. NETCONF
B. NX Yang

C. NX-AP| REST
D. JSON-RPC

Answer: C

NEW QUESTION 117
Which configuration generates a syslog message when CPU utilization is higher than 60%?

A. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

B. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op It 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

C. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

D. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op It 60 poll-interval 5 action 1.0 syslog priority notifications
msg "cpu high”

Answer: A

NEW QUESTION 120

DRAG DROP

A network engineer must implement RBAC on Cisco MDS 9000 Series Multilayer Switches.

Drag and drop the Cisco MDS 9000 Series roles from the left onto the correct categories on the right.
Select and Place:
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System Defined
san-operator
global-admin
server-admin
storage-admin
User Defined
network-admin
network-operator
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Svstem Defined
san-operator
network-admin
global-admin —
network-operator
server-admin
server-admin
storage-admin
User Defined
network-admin san-operator
network-operator storage-admin
global-admin

NEW QUESTION 125

An engineer must configure RBAC in Cisco UCS Manager in an existing data center environment.

Which two roles can be used to configure LAN connectivity policies? (Choose two.)

A. server-profile
B. network-admin
C. operations

D. enable

E. admin

Answer: BE

NEW QUESTION 126
An engineer is enabling port security on a Cisco MDS 9000 Series Switch.
Which feature of enabling port security on a Cisco MDS 9000 Series Switch must be considered?

A. It can be distributed by using Cisco Fabric Services.

B. It authorizes only the configured SWWN to participate in the fabric.
C. It always learns about switches that are logging in.

D. It binds the fabric at the switch level.

Answer: A

NEW QUESTION 130

DRAG DROP

An engineer is implementing security on the Cisco MDS 9000 switch.

Drag and drop the descriptions from the left onto the correct security features on the right.
Select and Place:
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Fabric Binding

can be distributed via fabric services
Target 1

uses the Exchange Fabric Membership Data protocol
Target 2

allows a preconfigured set of Fibre Channel devices
to logically connect to SAN ports

Port Security

prevent unauthorized switches from joining the
fabric or disrupting current fabric operations Target 3

Target 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:

can be distributed via fabric services IFabm: Binding

1 ) E i
‘ uses the Exchange Fabric Membership Data protocol
|

uses the Exchange Fabric Membership Data protocol i 1
| allows a preconfigured set of Fibre Channel] devices |

1 to logically connect to SAN ports
allows a preconfigured set of Fibre Channel devices |

to logically connect to SAN ports

- | Port Security
prevent unauthorized switches from joining the o ; : 3 '
fabric or disrupting current fabric operations ‘ can be distributed via fabric services

| prevent unauthorized switches from joining the
fabric or disrupting current fabric operations |

NEW QUESTION 135
What is a feature of NFS?

A. zone-based access control

B. Kerberos-based security model
C. block-based file access

D. role-based access control

Answer: B

NEW QUESTION 137
Port security is enabled on a Cisco MDS 9000 Series Switch.
Which statement is true?

A. Port security can be enabled only globally and affects all VSANSs.

B. Any devices currently logged in must be added manually to the device database.
C. Auto-learning is always enabled automatically when port security is enabled.

D. Cisco Fabric Services must be disabled before enabling port security.

Answer: C

NEW QUESTION 142
When a strict CoPP policy is implemented, which statement describes an event during which packets are dropped?

A. A large system image is copied to a switch by using the default VRF.

B. Fifteen SSH sessions remain connected to the switch.

C. A ping sweep is performed on a network that is connected through a switch.
D. A web server that is connected to a switch is affected by a DDoS attack.

Answer: D
NEW QUESTION 145
DRAG DROP

Drag and drop the storage technologies from the left onto the correct descriptions on the right.
Select and Place:
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NFSv2 uses client machine authentication
Kerberos uses users authentication
NFSv4 authenticates clients and servers in NFSv4
authenticates clients to corporate
RADIUS directory systems
A. Mastered
B. Not Mastered
Answer: A
Explanation:
MNFSv2 NF3v2
Kerberos NFSv4
NFSv4 Kerberos
RADIUS RADIUS

NEW QUESTION 149

Guaranteed success with Our exam guides

visit - https://www.certshared.com



Certshared now are offering 100% pass ensure 350-601 dumps!
r_l CEFtSharEd https://www.certshared.com/exam/350-601/ (0 Q&AS)

Thank You for Trying Our Product

We offer two products:

1st - We have Practice Tests Software with Actual Exam Questions

2nd - Questons and Answersin PDF Format

350-601 Practice Exam Features;

* 350-601 Questions and Answers Updated Frequently
* 350-601 Practice Questions Verified by Expert Senior Certified Staff
* 350-601 Most Realistic Questions that Guarantee you a Pass on Y our FirstTry

* 350-601 Practice Test Questionsin Multiple Choice Formats and Updatesfor 1 Y ear

100% Actual & Verified — Instant Download, Please Click
Order The 350-601 Practice Test Here

Guaranteed success with Our exam guides visit - https://www.certshared.com


https://www.certshared.com/exam/350-601/
http://www.tcpdf.org

